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QUESTION 1

An application administrator reports application slowness when loading the application\\'s web portal. The virtual
machine is currently connected to a vSphere Distributed Switch. The application owner requests information about the
virtual machine\\'s network traffic.

Which feature of a vSphere Distributed Switch should the administrator use to gather the needed information?

A. NetFlow

B. Port Mirroring

C. Network I/O Control

D. Promiscuous Mode

Correct Answer: A

QUESTION 2

An SSO user cannot log in to the Application Services appliance with vCloud Automation Center 6.1 Single Sign-On
(SSO). The corresponding vCloud Automation Center 6.1 instance is running and healthy.

What is the most probable cause?

A. The Application Services appliance is unable to resolve the host name for SSO.
B. The Application Service appliance received the wrong server identification.

C. The Application Service appliance lost network connectivity.

D. The Application Service appliance was installed with the wrong credentials.

Correct Answer: A

QUESTION 3

How can an administrator make a commonly used development environment available for end- users to deploy?
A. Use vCenter Server templates to deploy the VMs needed for the service.

B. Use the Service Catalog to publish the VMs needed for the service.

C. Use the vCloud Automation Connector to deploy the VMs needed for the service.

D. Use Fast Provisioning to deploy the VMs needed for the service.

Correct Answer: B
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QUESTION 4

An application team is implementing a new solution in a vSphere environment. The vendor states the application is

memory intensive.

The application is very unstable when operating without adequate on-demand access to physical memory. The
application\\'s virtual machines have been assigned to the Mission Critical resource pool.

Which resource pool setting will help ensure the application has adequate access to memory?

A. Memory reservation

B. High memory share value

C. Unlimited memory
D. Expandable reservation

Correct Answer: A

QUESTION 5

Refer to the Exhibit.
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While building an application blueprint, the administrator cannot add a vPostgres database service to the new operating
system, as shown in the exhibit:
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What is needed to resove this?

A. Drag and drop vPostgres from the Services menu onto the new operating system.

B. Delete the current operating system and deploy a new Database Server that includes vPostgres.

C. Drag and drop a vPostGres Application Component to join the existing operating systemand vPostGres objects.
D. Add an External Service Instance Profile to the Deployment Environment.

Correct Answer: A
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